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. To which side of 0 on a horizontal line is the negative integers located?
(a) Right (b) left

(c)Above (d) Below

. What is the opposite of a profit of Rs.2507?
(@) A gain of Rs.250 (b) +250
(c)Rs.250 (d) A loss of Rs.250

. Between which two does -6 lie?
(a)-7 and -10 (b) 7and 10
(c)-5 and -7 (d)5and 7

. Which of the following statement is true?
(@)-2—-2=+4 (b)-2—-2=—4
(c)—=2+2=4 (d)—2—-3 =45

. Which of the following statement is true?
(@)10 + (—10) = 20 (b)10 — (—10) = =20
()10 — (—10) = 20 (d)10 — (+10) = 20

. What is the additive inverse of - 4?
(a)+4 (b)-4
1 —1
() (d)—
. Every positive integeris ______ than every negative integer.
(a)Greater (b) smaller
(c) Neither greater nor smaller (d) none of these
. Zerois every negative integer.
. Which is the largest of the integers -3, -10, -236, -157?
(a)-3 (b)-10
(c)-236
10. Additive inverse of (-48) is
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